Ks=1
dUnode=0,07/0,1/0,01%
Ik3p"=0,833KA Ik1p"=0,338kA

Ks=1
dUnode=0,08/0,12/0,02%
Ik3p"=0,71KA Ik1p"=0,288KA

Ks=1
dUnode=0,08/0,13/0,03%
1k3p"=0,628KA Ik1p"=0,254kA

Ks=1
dUnode=0,09/0,15/0,04%
1k3p"=0,555KA Ik1p"=0,225kA

Ks=1
dUnode=0,09/0,15/0,04%
1k3p"=0,498KA Ik1p"=0,202kA

Ks=1
dUnode=0,09/0,16/0,04%
1k3p"=0,451KA Ik1p"=0,183kA

ip3p=1.2kA ip1p=0,487kA ip3pz1,0kA ip1p=0.415kA 3p=0,006KA ip1p=0,367kA ip3p=0,801kA ip1p=0,324kA 3p=0,718KA ip1p=0,291kA ip3p=0,651kA ip1p=0,263kA
ip3p ip1p : %ﬁ/ﬂ pip L i p1p=0.36 %?9/8 ip1p i p1p2029 %?9/6 ip1p=0.2634
% FAZ-C6/1 YKY 5x6 % FAZ-C6/1 YKY 5x6 T FAZ-C6/1 YKY 5x6 FAZ-C6/1 YKY 5x6 T FAZ-C6/1 YKY 5x6 T FAZ-C6/1
Ttr=0,01s L=17m, D2 Ttr=0,01s L=15m, D2 Ttr=0,01s L=17m, D2 Ttr=0,01s L=17m, D2 Ttr=0,01s L=17m, D2 Ttr=0,0101s
dUwl=0,01/0,02/0,0% dUwl=0,0/0,02/0,0% dUwl=0,01/0,01/0,0% dUwi=0,01/0,0/0,0% dUwi=0,0/0,01/0,0%
Iwl=0,28/0,42/0,0/N:0,37A Iwl=0,14/0,42/0,0/N:0,37A Iwl=0,14/0,28/0,0/N:0,24A Iwl=0,14/0,14/0,0/N:0,14A Iwl=0,0/0,14/0,0/N:0,14A
(1%lz) (1%lz) (1%lz) (0%lz) (0%lz)
YKY 5x6 NYM 3*2,5 NYM 3*2,5 NYM 3*2,5 NYM 3*2,5 NYM 3*2,5 NYM 3*2,5
L=92m, D2 L=3m, E L=3m, E L=3m, E L=3m, E L=3m, E L=3m, E

dUwl=0,05/0,08/0,02%
1wl=0,28/0,42/0,14/N:0,24A

dUwl=0,0/0,0/0,0%
Iwl=0,0/0,0/0,14/N:0,14A

dUwl=0,0/0,0/0,0%
Iwl=0,14/0,0/0,0/N:0,14A

dUwl=0,0/0,0/0,0%
Iwl=0,0/0,14/0,0/N:0,14A

dUwl=0,0/0,0/0,0%
Iwl=0,0/0,14/0,0/N:0,14A

dUwl=0,0/0,0/0,0%
Iwl=0,14/0,0/0,0/N:0,14A

dUwl=0,0/0,0/0,0%
Iwl=0,0/0,14/0,0/N:0,14A

Ks=1
dUnode=0,21/0,37/0,04%
1k3p"=0,369KA Ik1p"=0,149kA

ip3 33KA ip1p=0,216kA
T

FAZ-C6/1 YKY 5x6 iﬁ
Ttr=0,0103s L=31m, D2
dUwi=0,0/0,04/0,0%
Iwl=0,0/0,46/0,0/N:0,46A
(1%lz)
NYM 3%2,5
L=3m, E

dUwI=0,01/0,0/0,0%
Iwi=0,46/0,0/0,0/N:0,46A
(2%lz)

L16

Un=230V, Pn=0,1kW
(Ku=1) (L1)
dUnode=0,22/0,0/0,0%
Ik1p"=0,168kA
Inode=0,46/0,0/0,0/N:0,46A
ip1p=0,242kA

FAZ-C6/1
Ttr=0,011s

NYM 3*2,5

L=3m, E
dUwl=0,0/0,01/0,0%
Iwl=0,0/0,46/0,0/N:0,46A
(2%l2)

L17

Un=230V, Pn=0,1kW
(Ku=1) (L2)
dUnode=0,0/0,38/0,0%
Ik1p"=0,145kA
Inode=0,0/0,46/0,0/N:0,46A
ip1p=0,209kA

(1%Iz) (0%lz) (0%lz) (0%lz) (0%Iz) (0%Iz) (0%Iz)
(] L18 (] L19 [ L20 [ L21 [ L22 [ L23
Un=230V, Un=230V, Un=230V, Un=230V, Un=230V, Un=230V,
Pn=0,03kW (Ku=1) Pn=0,03kW (Ku=1) Pn=0,03kW (Ku=1) Pn=0,03kW (Ku=1) Pn=0,03kW (Ku=1) Pn=0,03kW (Ku=1)
(L3) (L1) (L2) (L2) (L1) (L2)
dUnode=0,0/0,0/0,01% dUnode=0,08/0,0/0,0% dUnode=0,0/0,14/0,0% dUnode=0,0/0,15/0,0% dUnode=0,1/0,0/0,0% dUnode=0,0/0,16/0,0%
k1p"=0,315kA k1p"=0,271kA k1p"=0,241kA k1p"=0,215kA k1p"=0,193kA k1p"=0,176kA
Inode=0,0/0,0/0,14/N:0,14A Inode=0,14/0,0/0,0/N:0,14A Inode=0,0/0,14/0,0/N:0,14A Inode=0,0/0,14/0,0/N:0, 14A Inode=0,14/0,0/0,0/N:0,14A Inode=0,0/0,14/0,0/N:0, 14A
ip1p=0,454KA ip1p=0,391KA ip1p=0,348KA ip1p=0,31kA ip1p=0,279KA ip1p=0,253KA
Ks=1
dUnode=0,0/0,0/0,0%
1k3p"=14,5kA Ik1p"=8,7KA NETO'NAP2 Ks=1 ! . Ks=1 . Ks=1 : Ks=1 i Ks=1 .
ip3p=35,8KA ip1p=21,5kA dUnode=0,01/0,02/0,0% Ik3p"=10,2kA Ik1p"=4,9KA dUnode=0,02/0,03/0,01% Ik3p"=4,2kA dUnode=0,02/0,03/0,02% Ik3p"=2,3kA dUnode=0,03/0,04/0,01% Ik3p"=1,5kA dUnode=0,03/0,04/0,01% Ik3p"=1,2kA
Un=400V, ip3p=15,5KA ip1p=7,2KA Ik1p"=1,7kA Ik1p"=0,921KA lk1p"=0,625KA Ik1p"=0,473KA
‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ Sk"=10MVA ‘ \g3%§£kA ip1p=2,5kA ‘ ip3p733kA ip1p=1,3kA ‘ %ﬂ/ZKA p1p 0902k‘A g%,uk/\ p1p 0682k‘A
T % iﬁ iﬁ iﬁ T T iﬁ YKY oo iﬁ FA4 i iﬁ % FAG CAB4-6 iﬁ FAT %
PL6-C16/3 PL6-C16/3 PL6-C16/3 PL6-C16/3 PL6-B32/3 PL6-B32/3 PL6-B32/3 PL6-B32/3 dUwl=0,01/0,02/0,0% FAZ-C6/1 dUwl=0,0/0,01/0,01% FAZ-C6/1 YKY 5x6 FAZ-C6/1 YKY 5x6 FAZ-C6/1 YKY 5x6 FAZ-C6/1
Ttr=0,01s Ttr=0,0114s Ttr=3,0053s Tir=4,83s Ttr=0,0145s Ttr=0,0104s Ttr=0,015s Ttr=0,0146s Iwi=1,62/1,99/1,25/N:0,64A Tr=0,01s 1WI=0,28/0,42/0,42IN:0,14A Ttr=0,01s L=17m, D2 Ttr=0,01s L=17m, D2 Ttr=0,01s L=17m, D2 Ttr=0,01s
(5%k2) (19%k2) dUw=0,0/0,0/0,0% dUwi=0,01/0,0/0,0% dUwi=0,0/0,01/0,0%
1l=0,14/0,14/0,14/N:0,0A IWI=0,14/0,14/0,0/N:0,14A wI=0,0/0,14/0,0/N:0,14A
VKY 5 VKY 5110 (0%lz) (0%lz) (0%lz)
X X
Slup B1 YKY 514 Slup B4 L-ta0m E Slup A1 L=125m E Slup A3 W31
- L=20m, E S = dUwi=1,25/1,25/1,25% dUwi=3,25/3,25/3,25% 5= « « « + «
dKj n;dl-o 1/0.4/0.4% IK3o"= W dUwi=0,1/0,1/0,1% dUnode=1,25/1,25/1,25% Ik3p"=0,412kA Ik1p"=0,167kA Iwl=4,16/4,16/4,16/N:0,0A Ks =1 \wl=27,8/27,8/27,8IN:0,0A dUnode=3,51/3,51/3,51% Ik3p"=0,983KA Ik1p"=0,398kA mssxéo N_YM $25 [‘lM 2 25 'L\gM S 25 ['l”' 3 25 'L\‘ng 2 25
dUnode=0,1/0,1/0,1% k3p"=4, 9K Ik1p'=2,TkA . : ip3p=0,5961cA ip1p=0,241kA dUnode=3,25/3,25/3,25% Ik3p"=1, kA Ik1p"=0,420KA e A oot Srhh m, L=3m,E m, m, m, m,
ip3p=7,0kA ip1p=3,0kA Iwi=4,16/4,16/4,16/N.0,04 POP=RSSRIATRTR=D, in3p="1.5kA ip1p=0,619KA 1P3p=1.4kApTp=0, dUwl=3,51/3,51/3,51% dUWI=0,0/0,0/0,0% dUwI=0,0/0,0/0,0% dUwl=0,010,0/0,0% dUwl=0,0/0,0/0,0% dUwl=0,010,0/0,0%
(12%Iz) _ ' ' Iwl=27 8127 8127 8/N:0.0A 1WI=0,14/0,0/0,0/N:0,14A WI=0,0/0,14/0,0/N:0,14A 1I=0,0/0,0/0,14/N:0, 14A wi=0,14/0,0/0,0/N:0,14A 1wI=0,0/0,14/0,0/N:0, 14A
(12%lz) (0%lz) (0%l2) (0%12) (0%l2) (0%l2)
O-LD1,LD4 0-LD2 0-LD3 0O-PG1,PG4 0-PG2 0-PG3 LD1-LD6 LD7-LD12 LD13-LD18 PG1-PG6 PG7-PG13 PG13-PG18 L1 [ [ L2 (] L3 (| L4 [mm] L5
Un=230V, Un=230V, Un=230V, Un=230V, Un=230V, Un=230V, Un=230V, Pn=6kW Un=230V, Pn=6kW Un=230V, Pn=6kW Un=230V, Pn=6kW Un=230V, Pn=6kW Un=230V, Pn=6kW Un=230V, Un=230V, Un=230V, Un=230V, Un=230V,
Pn=0,9kW (Ku=1) Pn=0,9kW (Ku=1) Pn=0,9kW (Ku=1) Pn=0,9kW (Ku=1) Pn=0,9kW (Ku=1) Pn=0,9kW (Ku=1) (Ku=1) (L1) (Ku=1) (L2) (Ku=1) (L3) (Ku=1) (L1) (Ku=1) (L2) (Ku=1) (L3) Pn=0,03kW (Ku=1) Pn=0,03kW (Ku=1) Pn=0,03kW (Ku=1) Pn=0,03kW (Ku=1) Pn=0,03kW (Ku=1)
(L1) (L2) (L3) (L1) (L2) (L3) dUnode=3,38/0,0/0,0% dUnode=0,0/3,38/0,0% dUnode=0,0/0,0/3,38% dUnode=3,64/0,0/0,0% dUnode=0,0/3,64/0,0% dUnode=0,0/0,0/3,64% (L1) (L2) (L3) (L1) (L2)
dUnode=0,12/0,0/0,0% dUnode=0,0/0,12/0,0% dUnode=0,0/0,0/0,12% dUnode=1,27/0,0/0,0% dUnode=0,011,27/0,0% dUnode=0,0/0,011,27% Ik1p"=0,421kA Ik1p"=0,421kA Ik1p"=0,421kA Ik1p"=0,391kA Ik1p"=0,391kA Ik1p"=0,391kA dUnode=0,02/0,0/0,0% dUnode=0,0/0,03/0,0% dUnode=0,0/0,0/0,02% dUnode=0,03/0,0/0,0% dUnode=0,0/0,05/0,0%
Ik1p"=1,9kA Ik1p"=1,9kA Ik1p"=1,9kA 1k1p"=0,166kA Ik1p"=0,166kA Ik1p"=0,166kA !node:27,8/0,0/0,0/N:27,8A !node:0,0/27,8/0,0/N:27,8A !node:0,0/0,0/27,8/N:27,8A !node:27,8/0,0/0,0/N:27,8A !node:0,0/27,8/0,0/N:27,8A !node:0,0/0,0/27,8/N:27,BA Ik1p"=2,5kA Ik1p"=1,3kA Ik1p"=0,771KA Ik1p"=0,552kA Ik1p"=0,43kA
Inode=4,16/0,0/0,0/N:4,16A Inode=0,0/4, 16/0,0/N:4, 16A Inode=0,0/0,0/4,16/N:4,16A Inode=4,16/0,0/0,0/N:4,16A Inode=0,0/4,16/0,0/N:4, 16A Inode=0,0/0,0/4,16/N:4, 16A ip1p=0,607kA ip1p=0,607kA ip1p=0,607kA ip1p=0,564kA ip1p=0,564kA ip1p=0,564kA Inode=0, 14/0,0/0,0N:0,14A Inode=0,0/0, 14/0,0/N:0, 14A 1n0de=0,0/0,0/0,14IN:0, 14A Inode=0,14/0,0/0,0/N:0, 14A Inode=0,010,14/0,0/N:0, 14A
ip1p=2,7KA ip1p=2,7kA ip1p=2,7kA ip1p=0,239KA ip1p=0,239kA ip1p=0,239kA ip1p=3,6kA ip1p=1,8kA ip1p=1,1kA ip1p=0,796kA Ks=1 ip1p=0,62kA
dUnode=0,0/0,04/0,06%
YKY 5x4 Ks=1 o Ks=1 _— Ks=1 - 1k3p"=0,907KA IK1p"=0,368KA
Lom g dUnode=0,02/0,03/0,02% Ik3p"=2,3kA dUnode=0,01/0,04/0,04% Ik3p"=1,5kA dUnode=0,0/0,04/0,05% Ik3p"=1,1kA ip3p=1,3kA ip1p=0,53kA
QUMI=06106106% & p":o,g‘(f‘k/? 1,3kA & pn:o’%s'kﬁ 2kA o pn:o’tgﬁ 45KA
Iwi=4,16/4,16/4,16/N:0,0A YKY 5x10 YKY 5x16 YKY 5x6 £ Ll 3 220 p0o0 Do plon0os \
(12%l2) YKY 54 L=60m, E , L=205m, E L=40m, D2
L-1s0m.£ 7 21527 AN O W7 827 827 AN00A 0321 505OND4A
dUwl=1,83/1,83/1,83% 46%02) (VSVS% |£)/ 8127 BN, (g% . 069N, YKY 5x6 FAZ-C6/1 YKY 5x6 FAZ-C6/1 YKY 5x6 FAZ-C6/1 YKY 5x6 FAZ-C6/1
Iwl=4,16/4,16/4,16/N:0,0A L=17m, D2 Ttr=0,01s L=17m, D2 Ttr=0,01s L=21m, D2 Ttr=0,01s L=16m, D2 Ttr=0,01s
(12%lz) dUwi=0,0/0,0/0,01% dUwi=0,0/0,01/0,01% dUwi=0,0/0,0/0,02% dUwi=0,0/0,0/0,01%
1WI=0,14/0,14/0,28/N:0,14A 1I=0,0/0,14/0,28/N:0,24A 1wI=0,0/0,0/0,28/N:0,28A 1wI=0,0/0,0/0,14/N:0,14A
S|Up B2 S|Up B2 S|Up A2 S|Up Ad (1%lz) (1%lz) (1%l2) (0%lz)
Ks=1 Ks=1 Ks=1 Ks=1
dUnode=0,58/0,58/0,58% Ik3p"=0,889KA Ik1p"=0,361kA dUnode=1,74/1,74/1,74% Ik3p"=0,298KA Ik1p"=0,121kA dUnode=1,56/1,56/1,56% Ik3p"=2,2kA Ik1p"=0,882KA dUnode=3,36/3,36/3,36% Ik3p"=1,0kA Ik1p"=0,42kA
ip3p=1,3kA ip1p=0,521kA ip3p=0,43kA ip1p=0,174kA ip3p=3,1kA ip1p=1,3kA ip3p=1,5kA ip1p=0,606kA NYM 3*2,5 NYM 3*2,5 NYM 3*2,5 NYM 3*2,5
L=3m,E L=3m,E L=3m,E L=3m,E
dUwi=0,0/0,0/0,0% dUwi=0,0/0,0/0,0% dUwi=0,0/0,0/0,0% dUwi=0,0/0,0/0,0%
1wI=0,14/0,0/0,0/N:0,14A 1wI=0,0/0,14/0,0/N:0,14A 1wI=0,0/0,0/0,14/N:0,14A 1w1=0,0/0,0/0,14/N:0,14A
é é é é é é é é é é é é (0%t (0% (0% (0%
O-PD1,PD4 0O-PD2 0-PD3 0O-LG1,LD4 0-LG2 0-LG3 PD1-PD6 PD7-PD13 PD13-PD18 LG1-LG6 LG7-LG13 LG13-LG18
Un=230V, Un=230V, Un=230V, Un=230V, Un=230V, Un=230V, Un=230V, Pn=6kW Un=230V, Pn=6kW Un=230V, Pn=6kW Un=230V, Pn=6kW Un=230V, Pn=6kW Un=230V, Pn=6kW |_6 L7 |_8 |_9
Pn=0,9kW (Ku=1) Pn=0,9kW (Ku=1) Pn=0,9kW (Ku=1) Pn=0,9kW (Ku=1) Pn=0,9kW (Ku=1) Pn=0,9kW (Ku=1) (Ku=1) (L1) (Ku=1) (L2) (Ku=1) (L3) (Ku=1) (L1) (Ku=1) (L2) (Ku=1) (L3) — d — ~ — d — a
(L1) (L2) (L3) (L1) (L2) (L3) dUnode=1,69/0,010,0% dUnode=0,0/1,69/0,0% dUnode=0,0/0,0/1,69% dUnode=3,48/0,010,0% dUnode=0,0/3,48/0,0% dUnode=0,0/0,0/3,48% Un=230V, Un=230V, Un=230V, Un=230V,
dUnode=0,6/0,0/0,0% dUnode=0,0/0,6/0,0% dUnode=0,0/0,0/0,6% dUnode=1,76/0,0/0,0% dUnode=0,0/1,76/0,0% dUnode=0,00,011,76% 1k1p"=0,848KA Ik1p"=0,848KA Ik1p"=0,848KA Ik1p"=0,412kA Ik1p"=0,412kA Ik1p"=0,412KA Pn=0,03kW (Ku=1) Pn=0,03kW (Ku=1) Pn=0,03kW (Ku=1) Pn=0,03kW (Ku=1)
Ik1p"=0,355KA Ik1p"=0,355KA k1p"=0,355KA Ik1p"=0,12kA Ik1p"=0,12kA Ik1p"=0,12kA Inode=27,8/0,0/0,0/N:27,8A Inode=0,0/27,8/0,0/N:27 8A Inode=0,0/0,0/27,8/N:27 ,8A Inode=27,8/0,0/0,0/N:27,8A Inode=0,0/27,8/0,0/N:27,8A Inode=0,0/0,0/27,8/N:27,8A (L1 ) (LZ) (L3) (L3)
Inode=4,16/0,010,0/N:4, 16A Inode=0,0/4,16/0,0/N:4, 16A Inode=0,0/0,0/4,16/N:4, 16A Inode=4,16/0,0/0,0/N:4, 16A Inode=0,0/4,16/0,0/N:4, 16A Inode=0,0/0,0/4,16/N:4, 16A ip1p=1,2kA ip1p=1,2kA ip1p=1,2kA ip1p=0,595kA ip1p=0,595kA ip1p=0,595kA dUnode=0,02/0,010,0% dUnode=0,0/0,04/0,0% dUnode=0,0/0,0/0,06% dUnode=0,0/0,0/0,06%
ip1p=0,512kA ip1p=0,512kA ip1p=0,512kA ip1p=0,173kA ip1p=0,173kA ip1p=0,173KA k1p"=0,771kA k1p"=0,552KA k1p"=0,409KA k1p"=0,341kA
Inode=0,14/0,0/0,0/N:0,14A Inode=0,0/0,14/0,0/N:0,14A Inode=0,0/0,0/0,14/N:0,14A Inode=0,0/0,0/0,14/N:0,14A
ip1p=1,1kA ip1p=0,796kA ip1p=0,589KA ip1p=0,492KA
Zlacze Ks=1 Ks=1 Ks=1 Ks =1 Ks=1 Ks=1 Ks=1
9 dUnode=0,08/0,11/0,02% Ik3p"=1,8kA Ik1g"=0,721kA dUnode=0,1/0,16/0,03% Ik3p"=1,2kA dUnode=0,12/0,2/0,05% dUnode=0,15/0,24/0,05% dUnode=0,16/0,29/0,06% dUnode=0,18/0,31/0,08% dUnode=0,21/0,33/0,06%
Ks=08 ip3p=2,6kA ip1p=1,0kA k1p"=0,48KkA 1k3p"=0,897KA Ik1p"=0,364kA 1k3p"=0,723KA Ik1p"=0,293kA 1k3p"=0,609KA Ik1p"=0,247kA 1k3p"=0,495KA Ik1p"=0,2kA 1k3p"=0,43KA Ik1p"=0,174KA
dUnode=0,0/0,0/0,0% @3;%; | 7KA ip1p=0,692kA ip3pz1.3KA ip1p=0,525kA ip3p=40kA ip1p=0.422kA ip3p=0,879KA ip1p=0,356kA ip3p70.714kA ip1p=0,289kA i%g;n,szm ip1p=0,251kA
1k3p"=14,5kA Ik1p"=8,7kA T T m T — — T
ip3p=35,8KA ip1p=21,5kA
NETO-NAP i % % i i % i
Un=400V, FAZ-C6/1 YKY 5x6 FAZ-C6/1 YKY 5x6 FAZ-C6/1 YKY 5x6 FAZ-C6/1 YKY 5x6 FAZ-C6/1 YKY 5x6 FAZ-C6/1 YKY 5x6
Sk"=10MVA Ttr=0,01s L=23m, D2 Ttr=0,01s L=22m, D2 Ttr=0,01s L=22m, D2 Ttr=0,01s L=21m, D2 Ttr=0,01s L=31m, D2 Ttr=0,01s L=25m, D2
\ dUwi=0,02/0,06/0,01% dUwi=0,02/0,04/0,02% dUwi=0,03/0,04/0,0% dUwi=0,01/0,04/0,0% dUwi=0,02/0,0210,02% dUwi=0,03/0,02/0,0%
1I=0,69/1,15/0,69/N:0,46A Il=0,69/0,92/0,69/N:0,23A WI=0,69/0,92/0,46/N:0,4A 1I=0,46/0,92/0,46/N:0,46A 1I=0,46/0,46/0,46/N:0,0A Iwl=0,46/0,46/0,0/N:0,46A
FU5 (3%lz) (3%lz) (3%lz) (3%Iz) (1%lz) (1%lz)
200NHG1B
(12f>1,45%1z . . . . " .
NIEODPOWIEDNI) NYM 32,5 NYM 32,5 NYM 3°2,5 NYM 32,5 NYM 32,5 NYM 32,5
Ttr=0,1492s L=3m,E L=3m,E L=3m,E L=3m, E L=3m,E L=3m,E
dUwI=0,0/0,0/0,0% dUwi=0,0/0,0/0,0% dUwi=0,0/0,0/0,0% dUwi=0,0/0,0/0,0% dUwi=0,0/0,01/0,0% dUwi=0,0/0,0/0,01%
Iwl=0,23/0,0/0,0/N:0,23A 1I=0,0/0,23/0,0/N:0,23A 1wl=0,0/0,0/0,23/N:0,23A wI=0,23/0,0/0,0/N:0,23A 1wI=0,0/0,46/0,0/N:0,46A 1wI=0,0/0,0/0,46/N:0,46A
RG (1%lz) (1%lz) (1%lz) (1%Iz) (2%lz) (2%lz)
Ks=0,8
dUnode=1,89/1,89/1,89%
1K3p"=6,6KkA Ik1p'=3 OkA RG Trybuny - L10 - L1 - L12 - L13 - L14 =] L15 —
Inode=184,3/184,3/184,3/N.0,0A Un=400V, Un=230V, Un=230V, Un=230V, Un=230V, Un=230V, Pn=0,1kW Un=230V, Pn=0,1kW
in3p=10.4kAip1p=4.5kA Pn=120kW (Ku=1) Pn=0,05kW (Ku=1) Pn=0,05kW (Ku=1) Pn=0,05kW (Ku=1) Pn=0,05kW (Ku=1) (Ku=1) (L2) (Ku=1) (L3)
WLZ-Glowny (L1) (L2) (L3) (L1) dUnode=0,0/0,3/0,0% dUnode=0,0/0,0/0,09%
YKY 4*120 dUnode=0,08/0,0/0,0% dUnode=0,0/0,17/0,0% dUnode=0,0/0,0/0,06% dUnode=0,15/0,0/0,0% k1p"=0,234kA Ik1p"=0,192kA
1=150m, D2 Ik1p"=0,625kA 1k1p"=0,436kA Ik1p"=0,338KA 1k1p"=0,276kA Inode=0,0/0,46/0,0/N:0,46A Inode=0,0/0,0/0,46/N:0,46A
dUwl=1,89/1,89/1,89% Inode=0,23/0,0/0,0/N:0,23A Inode=0,0/0,23/0,0/N:0,23A Inode=0,0/0,0/0,23/N:0,23A Inode=0,23/0,0/0,0/N:0,23A ip1p=0,338KA ip1p=0,277kA
IWI=147 441147 441147 44/N:0,0A (67%Iz) ip1p=0,902kA ip1p=0,628kA ip1p=0,487kA ip1p=0,397kA
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